PRSI O 6\/ - 3/8” DRIVER DRILL Model 6226DWE (MKC)
- 9.6V - 3/8” DRIVER DRILL with FLASHLIGHT Model 6226DWLE (MKC)
V//7:1, 7 A 12V - 3/8" DRIVER DRILL Model 6227DWE (MKC)

“ 12V - 3/8” DRIVER DRILL with FLASHLIGHT Model 6227DWLE (MKC)
14.4V - 3/8” DRIVER DRILL Model 6228DWE (MKC)
14.4V - 3/8” DRIVER DRILL with FLASHLIGHT Model 6228DWLE (MKC)

WIRING DIAGRAM

07-2003



Item Part No. Item Part No.
No. No. Used Description No. No. Used Description
1 125091-1 1 Speed Change Lever Assy (Includes | AO3 784613-A 1 Bit 2-63.5
231433-0 - Compression Spring 4)
AO4 - 2 9.6V Ni-Cad & Ni-MH Battery WI/Clip
2 183210-5 1 Housing Set (6226 DWE/DWLE) (1.3Ah ~ 3.0Ah) (6226DWE/DWLE)
183211-3 1 Housing Set (6227DWEDWLE) | - ---- 2 12V Ni-Cad & Ni-MH Battery W/Clip
183212-1 1 Housing Set (6228DWE/DWLE) (1.3Ah ~ 3.0) (6227DWE/DWLE)
----- 2 14.4V Ni-Cad & Ni-MH Battery
3 226359-9 1 Spur Gear 14 WI/Clip(1.3Ah ~ 3.0Ah)
4 266130-9 9 Tapping Screw Bind PT 3X16 (6228DWE/DWLE)
(6228DWE/DWLE)
5 911143-2 1 P.H. Screw M4X22(6226DWE/DWLE | A05 DC9710 1 Charger DC9710 For 7.2V ~ 9.6V
& 6227DWE/DWLE) Ni-Cad Batteries (1.3Ah)
6 232182-2 1 Leaf Spring DC1411 1 Charger DC1411 For 7.2V ~ 14.4V
7 416079-5 1 F/R Change Lever Ni-Cad & Ni-MH Batteries (1.3Ah
8 911003-8 1 P.H. Screw M3X6 ~ 3.0Ah)
9 651989-1 1 Switch DC1470 1 Charger DC1470 For 7.2V ~ 14.4V
10 687085-9 1 Holder Ni-Cad Battery (1.03Ah) only
11 654168-0 1 Spring Terminal (+) CAADC1412 1 Automotive Charger DC1412 For
12 654169-8 1 Spring Terminal (-) 7.2V ~ 14.4 V Ni-Cad Batteries
13 251451-2 1 P.H. Screw M5X22 (1.3Ah ~ 2.0AH)(With Item 60)
15 125087-2 1 Gear Assy DC1422 1 Automotive Charger DC1422 For
7.2V ~ 14.4V Ni-Cad & Ni-MH
16 629785-5 1 DC Motor (6226 DWE/DWLE) Batteries ( (1.3Ah ~ 3.0Ah)
(Old 629748-1) (With Item 60)
629787-1 1 DC Motor (6227DWE)/DWLE
629789-7 1 DC Motor (6228DWE)/DWLE A06 824635-1 1 Plastic Carrying Case (Old 824489-6)
(Includes Item AQ7) (For 6226DWE,
17 911003-8 2 P.H. Screw M3X6 6227DWE & 6228DWE)
18 689092-8 1 Heat Sink 824581-8 1 Plastic Carrying Case (Includes Item
19 819063-3 1 Makita Label A07) (For 6226DWLE, 6227DWLE
20 416586-8 1 Change Lever & 6228DWLE)
60 655000-B 1 Plug ofr Car Cigarette Lighter
100 654069-2 4 Receptacle A07 186347-7 2 Slide Latch Set (2pcs/Set)(For Case #
101 652038-7 2 P.H. Screw M3X8 824635-1)
417059-4 2 Snap Lock (2pcs/Set) (For Case #
824581-8)
Accessories
A08 ML903 1 9.6V Flashlight (6226DWLE)
A01 763132-1 1 Keyless Drill Chuck 10 ML120 1 12V Flashlight (6227DWLE)
A02 414938-7 2 Battery Cover ML140 1 14.4V Flashlight (6228DWLE)

2 Model 6226DWE/DWLE
2 Model 6227DWE/DWLE
2 Model 6228DWE/DWLE



